SMARK MARK
CONFIGURATION

APPLY LOC-TITE 242 10O
THREADS OF BOTH SCREWS
BEFORE ASSEMBLY

VALENCE SENSOR
CONFIGURATION

24

SMART MARK
BACK VIEW

COIN MECHANISM

CUSTOMER
PART NLUMBER SERIAL LABEL

24

SEE BACK VIEW

AN
/~ INTELLIGENT COMPARITOR |\

Model#
)64
Ser.#

T 5.0.041
_@ COIN MECHANISMS INC.
Glendale Hts. IL 60133 (630) 824~7070
1-800-323-5488 USA/Canada

o B

| 7

VALENCE SENSOR
BACK VIEW

“PLUG-IN" FOR
SENSOR COIL

“PLUG-IN" FOR
ACCEPT COIL

"PLUG-IN" FOR

VALENCE SENSOR
OR SMART MARK

“PLUG-IN" DETAIL

MATERIAL COLUMN

ITEM

PN aTy MATL’ DESCRIPTION

1 04060005-01] 4 | STUD, #6

2 0406XXXX 1 WEIGHT, DAMPER, (SEE DOC #09300018)

04660113 1 SPACER, COIN EXIT, .113 (SEE PAGE 2)

? 04680406 1 SPACER, COIN EXIT, IC,.146, EURO (SEE PAGE 2)
4 04660165 1 COVER, PCB HSG, UNIVERSAL

5 04680243 A/R | SPACER, IC, .0l0

6 04680244 A/R | SPACER, IC, .020

7 04680276 1 CLIP, WIRE, BARCODE, IC

8 04B69XXXX 1 HOLDER, TKN, IC, (SEE PAGE 2)

9 04B69XXXX 1 HOLDER, BC RDR, (SEE PAGE 2)

10 | 04690104 1 HOLDER, VALENCE READER

11 | DB25XXXX 1 COIL, ASSY, SENSOR, IC (SEE PAGE 2)

11A | 0OS69XXXX | — | LEVER, ASSY, DAMPER, IC, (SEE PAGE 2)

11B| 04690266-01 | — | PIN, PIVOT, DAMPER, IC

12

06250134 1 COIL & BRKT, ASSY, GRN, 4", PHR (SEE PAGE 2)

06250195 1 | COIL & BRKT, ASSY, GRY, 4", PHR (SEE PAGE 2)

13 | 06270045 1 PCB, ASSY, BC RDR, SM, TESTED

14 | 06280101 1 HARNESS, VAL, 3 PIN AMP, 4 PIN PHR, RED/BLK/VIO, 5.25

15 | 06650258 1 RETAINER, ASSY, IC, SPRING

16

06680017 1| CHASSIS, IC-16, STANDARD COIN (SEE PAGE 2)

06680022 1 | CHASSIS, IC-16, SMALL COIN (SEE PAGE 2)

17 | 08290208 1 PHOTOINTERRUPTER, REFLECTIVE

18 | 0927XXXX 1 PCB, CTRL, IC, (SEE PAGE 2)

19 | 0950-000XXXX 1 IC, 87C752 (SEE PAGE 2>

20 | 436-4 2 | NUT, 4-40, HEX, KEPS

21 | P-166-6-X 1 SCREW, 6-32 X (SEE DOCUMENT #08300019)

22 | P-186-4-3 2 | SCREW, 4-40 X 3716, PHIL/SH, INT SEMS WASHER

23 | P-217-2-5 1 | SCREW, 2 X 5716, PHIL, PH, HI-LO

24 | P-221-4-3 1 SCREW, 4 X 3716, PHIL, TYPE 45, PLASTITE

NOTES:

1. SEE INDIVIDUAL BILLS OF MATERIALS FOR VARIABLE SINGLE
COMPONENTS INDICATED BY SBUARE BALLONS.

2. SEE INDIVIDUAL BILLS OF MATERIALS FOR HARNESS
REGUIREMENTS.

RELEASED; SEE INDIVIDUAL P/N’'S FOR REVISION LEVELS 9/16£02
no.| B REVISIONS DATE/BY
NP SPELIFED TITLE 1C-16. P/N
COIN MECHANISMS INC.| " meies 3= I
prphtiingy 1 e e IDENTIFICATION
GLENDALE HEIGHTS, IL 60138 HLE OIA- 002 [poawn ToF e | 23002
Corta e raer etory. T opernat jon of CRUTICAL SYMELLS oo DATE
Coin Mechanisns Inc. The drawing = CUSTOMER APP DATE
L et P et e | Y = PROCESS
vrl then authorzablon and 1|1 not be W = BOTH DEN- DOB81603
used In any way detrinental to the
interest of Lajn Mechanisns. SIZE: D| SCALE:N/A | FINISH:  N/A | SHT 10OF 2




INTELLIGENT C(Q)EMPARITOR"

TOKEN HOLDER P/N

Model # 1016, 24, INHNG, 188

68166859
ser.# 023817

LS. PATENTS NO'S. 5,433,310 AND OTHERS
ALSO MFD. UNDER LICENSE U.5. PATENT NO. 5,046,841

COIN MECHANISMS INC.
Glendale Heights, IL 60138 (630) 924-7070
1-800-323-6498 USA/Canada www.coinmech.com

04690059

IC COVER

“opA €I\ ‘ |
| uollnB()

13 VOLT WILL
HAVE IDENTIFYING

LABEL INSTEAD OF MICRO P/N
REGULATOR (MAY HAVE 0950-000XXX FORMAT)
PCBP/IN i mii - N s

ONOPTFC,BDO

Pot C

e cc oo

IC WITH COVER REMOVED

COLOR, PLACEMENT AND
NUMBER OF DOTS
IDENTIFIES BARCODE
HOLDER P/N

P/N 05690XXX

LAST SIGNIFICANT
DIGITS MOLDED
ON DAMPER LEVER

ACCEPT COIL ASSEMBLY

DAMPER LEVER

BARCODE HOLDER

P/N 06250195= GRAY WIRES FOR HIGH VOLTAGE (24VAC)

P/N 06250134= GREEN WIRES FOR LOW VOLTAGE (12-13VDC)

INTELLIGENT COMPARITOR P/N

P/N 04690406
FOR COIN DIAMETERS
BETWEEN

P/N 04660113
FOR COIN DIAMETERS
BETWEEN
1.044" [26.5mm]-1.124" [28.5mm]

COIN EXIT SPACERS

2.9"
73.7mm
POSITION OF CUTOUT
FOR STANDARD COIN

2.7 .

68.6mm
POSITION OF CUTOUT
FOR SMALL COIN

.898" [22.8mm] -1.043" [26.5mm]

SENSOR COIL SLOT POSITION ON
MAINPLATE IN CHASSIS ASSEMBLY
P/N 06680022-SMALL COIN

COIN DIAMETERS
870" [22.1mm] -1.575" [40.0mm]

P/N 06680017-STANDARD COIN
COIN DIAMETERS
1.045" [26.5mm] -1.575" [40.0mm]

RELEASED; SEE INDIVIDUAL P/N'S FOR REVISION LEVELS 9/1D2'£02
M. | g REVISIONS DATE/BY
Jmewees | T IC-16 PIN
FRACTIINS- 4 L/B4 IDENTIFICATION
COIN MECHANISMS INC. ANGLES= +1™
40D REGENCY o= £.010
BLENDALE HEII.'HTS IL 6D13D vl o £.005 ORAWN DF DATE 6/7/02
CHO DATE
dontaine. pegar Tebory. 1ot ron of CRITICAL SYMAOL
Coin Mechonisns Inc. The draving APP DATE
pe B e P A A '
writben aubharizabion and wil | nat be OWG N D0681603
used in any way detrinental to the
Interest of Coln Mechnlsns. SIZE: B| VA FINISH:  N/A | sHT2 OF 2



debbyw
38

debbyw
1

debbyw
8

debbyw
7

debbyw
6

debbyw
5

debbyw
4

debbyw
3

debbyw
2

debbyw
04690059


IC-16

ety . SMARTMARK | 197 |
— =ul 3.88"
06" [4.8nn] DWG# ENG00089
[1 .52mm] ' 160” MAX- 985“_1 47//
— (4. 1nn] |10 /[20.0nm-37.3nn" ]
SEE DETAIL ON [2.5mn] CRIN B?A QAREE
SPACER OPTIONS -
ﬂ ﬂ (@ B
|
3.39"
[B85.8nm]
[
4.00" 1] | o |3
[101.6nm] 1 l
7~ INTELLIGENT COMPARITOR o ® O
‘ Model # 1.87" ®
\ 750 * (07 [47.9nn]
. Ser . #
[19.0mm] .82 PAT 3,045,841 D
) (23 4nn] _@ o) om0
| “B00-203-6438 LA Canado o o @]
} ) BACK VIEW
\\_qb . 187" 06" .23 ROUTING FOR ACCEPT COIL LEADS
06" [4.75mM] (1 San] [6.3nn]
[1.52mMM] —= = '
REF.
— -] —— '25” "
15 [6.35mmM] 3.5t
[3.81nn] - [89.2nnl
OUTLET
57"
[14.48rm]
095/, 105/
.120/.140/. 160 oo
COIN THICKNESS , P . [6.35mn] .0B5"
RANGE o0 refn o 150 [] FIXED [1.7nn]
* L J [3 ' 8ml‘1] REFERENCE l/BII
[T 1
: ?zzgzzzzzzz@:::«\_JL¢: $T| - lT%————j 160”7 [4.1mm][.310” [7.9mn] AT
T } I =\[Mm f . = = ? 140" [3.6mn] . 280" [7.4nn]
e I ' T H . 120” [3.0mn1[.270” [6.9mnJ
[6.35Mnn] k —-— ! 105" [2.7mn] |.255" [6.5mn]
FIXED - 095" [2.4nn1|.245" [6.2nn] =
REFERENCE [4-15”]_*. . .082” [2.1mm1[.232" [5.0mm]|  _peeeed
o | B0 | B0 .072" [1.8nm1][.222" [5.3mn]
<C?Ig]g}A. o ‘_[40.6mm] - __[40.BI”’IF’I] - //A// IIB//
[ Smnd MAX . COIN MSEJEEQIN SPACER ENTRY
COIN ENTRY ACCEPT SPACER [OPTIONS
COIN EXIT

COIN MECHANISMS INC.

P.0. Box 5128, Glendale Heights, IL 60138-5128

P/N ENGO0OOBS -5/02

630/924-7070*1-800,323-6498*FAX 630/824-7088+«E-MAIL-coinmechecoinmech.con
VISIT OUR WEB SITE AT www.coinmech.con






